
DateName Class

Cut out the cards. Solve each word problem and match it with an answer card.

Our 5th and 6th grade classes are 
going on a fieldtrip. There are 85 

students and 5 teachers going. The 
school buses hold 30 people each. 

How many buses are needed?

The Jackson family is going on a 
camping trip. They bought a tent 

for $65.00, a camp stove for $21.95 
and two ice chests for $11.00 

each. How much did they spend on 
supplies in total?

Jason and Harry had lunch together. 
They each had a pop for $1.25 each.  

Jason had a hamburger for $2.25. 
Harry had a hot dog for $1.75. How 

much was their lunch bill?

Tiff walked 7 miles on Tuesday 
and 3 miles on Friday. Sam walked 

2 miles on Monday and 6 on 
Tuesday. How many more miles 

did Tiff walk than Sam?  

Miss Robinson gave a math test to 
90 students. She corrected half of 

the tests on Monday. She corrected 
another 10 of the tests on Tuesday. 
How many more tests does Miss 
Robinson still have to correct?

Deanna received $75.00 on her 
birthday. She took a friend to a 

movie where the tickets cost $14 
each. Then she went shopping and 
spent $31.50 on jeans. How much 

money did she have left?  

A baby gorilla at the zoo 
weighs 15 pounds. Its father 

weighs 60 times as much. How 
much do they weigh together?

Keri is having a party. She sent 
invitations to 12 boys and 15 girls. 
One third of the boys, and 2 of the 

girls, replied that they can't make it. 
How many people are not going to 

the party?

Mikey gets paid $8.00 to mow a lawn 
during the week, and $9.00 per lawn 
on weekends. If he mowed 4 lawns 
on Friday and 5 on Saturday, how 

much money did he earn this week?

Scott has to paint his 
basement. The room is 20 ft 

by 13 ft. What is the perimeter 
of the room?  
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DateName Class

Cut out the cards. Solve each word problem and match it with an answer card.

(85 + 5) ÷ 30 = 3

3
(2 x 1.25) + 2.25 + 1.75 = 6.5

$6.50

90 - (90 ÷ 2) - 10 = 35

35

15 + (15 x 60) = 915

915 pounds

(8 x 4) + (9 x 5) = 77

$77

65 + 21.95 + (2 x 11) = 108.95

$108.95

(7 + 3) - (2 + 6) = 2

2 miles

75 - (2 x 14) - 31.50 = 15.50

$15.50

(12 ÷ 3) + 2 = 6

6
(20 x 2) + (13 x 2) = 66

66 feet
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